








NOTES: UNLESS OTHERWISE SPECIFIED REVISION

1. CORNERS DRAWN SHARP TO BE R.005 MAXIMUM. REV. | DRAWN BY | ECO No DESCRIPTION DATE APPROVED

2. EXTERIOR SURFACE TEXTURE TO BE LIGHT EDM FINISH. A M BOYER DR XXX | PRELIMINARY RELEASE 17-Sep-10 D.C.
EQUIVELANT TO MT-11028. CENTER PART TO BE POLISHED.

3. INTERIOR SURFACE TEXTURE TO BE: NONE. J M BOYER INCLUDE STANDARD CONFIG IN BOM 27-Jan-12 D.C.

4. ALL INSIDE RADII .@1@R. UNLESS OTHERWISE SPECIFIED. 1.0 M BOYER UPDATE TO AS-BUILT AND RELEASED TO MFG 23-May-12

5. ALL EXTERNAL DIMENSIONS AFFECTED BY THE DRAFT APPLY AT
THE LARGE END OF THE FEATURE, AND ALL INTERNAL FEATURES

AFFECTED BY THE DRAFT APPLY AT THE SMALL END OF THE FEATURE
UNLESS OTHERWISE SPECIFIED.

6. 1 DEGREE DRAFT IN THE DIRECTION OF PULL IS PERMISSIBLE
UNLESS OTHERWISED SPECIFIED.

7. ASSEMBLY SCREWS FOR THE ENCLOSURE ARE INCLUDED. MOUNTING SCREWS
FOR THE PCB AND WALL ARE SOLD SEPERATELY.

8. MATERIAL / COLOR: ASA PLASTIC IS STANDARD IN BLACK OR GRAY.
CUSTOM MATERIALS AND COLORS ARE AVAILABLE UPON REQUEST FOR QUOTE.

THIS ENCLOSURE CAN ACCOMODATE
A9 VOLT BATTERY AND CONNECTOR,
DUAL "AA" CARRIAGE, DUAL "AAA", OR

ANY BATTERY OF EQUIVALANT SIZE.

9. PCB SIZES ARE RECOMMENDATIONS ONLY. FINAL SIZES AND e
VERIFICATION OF IT'S FIT ARE THE SOLE RESPONSIBILITY OF OEM.
452715(x) CONFIGURATIONS a
-SW|-BS|-SS|-BW|-OM|-0B
452715 BATTERY COVER 1 1 Q
452715 COVER (w/o BATTERY) 1 1
452715 BASE 1|1 a
452715 WALL BASE 1 1
452715 HATCH 1 1
6-32 PHILLIPS HEAD SCREW x .500" 4 4 °
6-32 PHILLIPS HEAD SCREW x .375"| 4 4
8-32 PHILLIPS HEAD SCREW x .500" 2 2
OUTDOOR KIT 1] 1 °
7 |#4 HiLo x .250" SCREW ZINK PLATED SOLD SEPERATELY 4
6 |452715 0-RING, MAIN SEAL x .070" ETHYLENE-PROPYLENE, NATURAL SOLD SEPERATELY 1 e
5 |6-32 x .312" INSERT MMC 93365A142 OVER-MOLDED BRASS 4
4 [452715 PCB - REFERENCE .062" THICK CUSTOMER SUPPLIED 1
3 [452715 COVER - STANDARD ASA BLACK or GRAY 1 e
2 452715 BASE - STANDARD ASA BLACK or GRAY 1
1 [6-32 SCREW x .500 STAINLESS STEEL - PHILLIPS 500" LONG 4 0
BILL OF MATERIALS - Standard Base & Standard Cover (Not Shown) a
14 [No6 SHEET METAL SCREW x 1.00" 410 STAINLESS CUSTOMER SUPPLIED 4
13 |BATTERY CARRIAGE AA - REFERENCE KEYST # 2463 CUSTOMER SUPPLIED 1 @
12 |AA BATTERY - REFERENCE “AA" BATTERY SIZE CUSTOMER SUPPLIED 2
11 |#4 Hilo x .250" SCREW ZINK PLATED SOLD SEPERATELY 4 a
10 452715 WALL BASE - STANDARD /:SA BLACK or GRAY 1 MODEL: 452715-BM
9 [452715 PCB - REFERENCE .062" THICK CUSTOMER SUPPLIED 1 EXPLODED VIEW
8 |452715 0-RING, MAIN SEAL x .070" ETHYLENE-PROPYLENE, NATURAL SOLD SEPERATELY 1 SCALE ©0.600
7 452715 O-RING, BATT COMP x .070" ETHYLENE-PROPYLENE, NATURAL SOLD SEPERATELY 1 THIRD ANGLE PROJECTION TOLERg!;l"(/‘:EE’\S“SIgl'\l\‘IéEESEOILHSFSQ\I\II’I\‘SCEHSEZEC\FIED
6 452715 HATCH - STANDARD ASA BLACK or GRAY 1 6 XXX =.015 X.XXXX =.001
5 |452715 BATTERY COVER - STANDARD ASA BLACK or GRAY 1 @ XXX =010 XX'Z1° o
4 [8-32 x .344" CLOSED-END INSERT TRISTAR 832X344MC OVER-MOLDED BRASS 2 DO NOT SCALE DRAWING NEW AGE ENCLOSURES 45?(555‘29':56.?301? san L”'Z‘i”@%‘éﬁési%‘ﬁl
3 [8-32 SCREW x .375 STAINLESS STEEL - PHILLIPS .375" LONG P it Customer's Part No: 452715 www.newageenclosures.com
2 |6-32 x .625" INSERT BRASS OVER-MOLDED BRASS 4 || B SRR ’;:‘:;2"“ al DATE STAND - INDUSTRIAL UTIL
1 |6-32 SCREW x .500 STAINLESS STEEL - PHILLIPS .500" LONG 4 || SenTRoL THAT THs DOCUMENT wiLL NG,
ITEM|DESCRIPTION MATERIAL COLOR QrY. w — A5 NOTED SLX-452715X-XXX
BILL OF MATERIALS - Wall Base & Battery Cover " BovER Sep-17-10 452715 R 0 Tlorn| 1.0




452715-BW ASSEMBLY
COVER w/ BATTERY - WALL BASE

2.773

3.590

- SEE DETAIL C

R
ASSEMBLY VIEW: 452715-BW
SCALE 0.500

(I -

R.230

1.456
1.374

C: 452715-BW
SCALE 1.500

DETAIL

)

<

| I—

A

Rz

DETAIL B
SCALE 2.000

ph. (805) 595-1310 fax (805) 595-1024
Customer's Part No: 452715 www.newageenclosures.com

APPROVAL | BY DATE

GRECK STAND - INDUSTRIAL UTIL

ENG

== s SLX-452715X-XXX

DETAIL DRAWN BY SIZE | DRAWING NAME SHEET REV.DOC

SCALE 4.000 M BOYER Sep-17-10 A|452715_R1_0 2011 1.0

ISO VIEW: 452715-BW
SCALE 0.600

SSSSSSSSSSSss—.
%

CENTER TO BE POLISHED

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES.
XXX=.015 XXXXX =.001
XXXX =010 X.X°=1°

NEW AGE ENCLOSURES

4330 Santa Fe Road

San Luis Obispo, CA. 93401




‘ 4539

452715-SS ASSEMBLY 682

2.729

3.019

ASSEMBLY VIEW: 452715-SS
SCALE ©0.500

P
N
[

ISASASAAAAAAANNSSSSSSSSSSSSSSSSN\
-,.“I_I',.‘_ N

(I —

P/

SECTION Y-Y

1.775 | 2.500

COVER - BASE

.110

A AT T TR

N N \
N NN| N
NN NNl N
S % o

J
S

N\

\
"’E/
‘llﬂL
AT
—
||||
IIIII
_
N

i

v

é%C//’ 7 7
SECTI N R- R 452715 SS
SCALE 1.000 .095

.501

> ),

\CENTER SECTION

TO BE POLISHED

ISO VIEW: 452715-SS
SCALE ©0.600

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES.

XXX=.015 X.XXXX=.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES
452715

4330 Santa Fe Road
ph. (805) 595-1310

Customer's Part No:

San Luis Obispo, CA. 93401
fax (805) 595-1024

www.newageenclosures.com

APPROVAL BY DATE

CHECK S TAN D -

— SLX-452715X-

INDUSTRIAL UTIL

XXX

SCALE AS NOTED
DRAWN BY SIZE DRAWING NAME
M BOYER Sep-17-10 A]|452715_R1_0

SHEET
3 0F 11

REV.DOC

1.0




& .245

SCALE

R.230

N
NS/
0.750 H f -
I SECTION Y-Y

gy

3.019

452715 BATTERY COVER
2.729 FOR USE IN CONFIG: -BS -BW

Y ——
.110

)

7
et

N

4.539

]S —

- ,/,,////////// 7
1

2 ;

%

=
=\
////////////////////////////////////_

i

.099 -2°
DRAFT/SIDE

1.033 %

R.025

DETAIL G
OVER-MOLDED PEM SCALE 3.000
8-32 x .344"

V %), - — A — /7/////

!

.095 -2°
DRAFT/SIDE

.100

=~ R.015

!

DETAIL H
SCALE 3.000

D
_

CLOSED-END BRASS
INSERTS (NOT SHOWN)

N

2

N\

s

N

2

OVER-MOLDED PEM
6-32 X .625" BRASS
INSERTS (NOT SHOWN)
QUANTITY 4
SECTION P-P

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES
XXX =.015 X.XXXX =.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES

Customer's Part No: 452715

4330 Santa Fe Road
ph. (805) 595-1310

www.newageenclosures.com

San Luis Obispo, CA. 93401
fax (805) 595-1024

T STAND - INDUSTRIAL UTIL
e S SLX-452715X-XXX
1 BovER sep-17-10 " alas2r1s R1 o Taornu| 1.0




452715 COVER
FOR USE IN CONFIG: -SW -SS

le— 860 —»
ﬂ le—— .180 110
¥ 77
(F
%
.
7
|
L
C %
|
|
|
|
|
|
|
|
|
L
|
|
|
|
|
|
|
|
|
|
4.539 % 2.000
7
|
|
|
|
|
’
|
J |
A 1t — 1 11l e ff e g
|
E |
I_ |
" ) Z
7
|
|
|
|
|
|
L
% -
_L 1 ////////////////////////////,.
SCALE ©.750 f SECTION Y-V
OVER-MOLDED PEM 3.0°
6-32 x .312" BRASS R.230
INSERTS (NOT SHOWN)
7 //ﬁ’”j//////////////////////////////////////////i’”{//_////////
Y
In—r
\%I
U
Y
|
v .640
, i |
170 1 1| Gl 1
} \J SECTION A-A ‘L
.068
& .160 SEE DETAIL D R.025
‘  — ' "
[ 3.019 4 TOLERANCES: UNLESS OTHERWISE SPECIFIED
/,/ DIMENSIONS ARE IN U.S. INCHES.
XXX =015 XXXXX =.001
- i XXXX =010 X.X°=1°
- m 130+:001 NEW AGE ENCLOSURES 4330 Santa Fe Road  San Luis Obispo, CA. 93401
-.002 ph. (805) 595-1310 fax (805) 595-1024
|| Customer's Part No: 452715 www.newageenclosures.com
APPROVAL BY DATE
L———J—g’giﬁsm CrEcK STAND - INDUSTRIAL UTIL
1 1+ ENG. - -
LIl 1 1 1 11 DETAIL D SCALE AS NOTED SLX 452715)( XXX
SCALE 3.000 DRAWN BY size | brAWING NAME SHEET REV.DOC
M BOYER Sep-17-10 A|452715_R1_0 soF11| 1.0




452715 WALL BASE

2o% FOR USE IN CONFIG: -SW -BW
2.643
(.337 INSIDE —
CLEARANCE)
A B s
|
I = A -
i f |
(C> ! <o -
| |-
(@) i :
\ [ == I —| =1 [
i
1.100 i—--—--—--—--- 4583
i
s == == | [
L | |
o, I -
E ! I
{ 7 © ks
| \
\ : 7/, I
! SECTION Y-Y
SCALE 0.750 \ —t
070758
020

DETAIL E
SCALE 1.500

SECTION S-S

OPENING FOR STRAP

%J
Tr

— 155

= .077

.080

1.100

8 PLACES

% .145 +2° DRAFT

2.000

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES

XXX =.015 X.XXXX =.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES

4330 Santa Fe Road San Luis Obispo, CA. 93401
ph. (805) 595-1310 fax (805) 595-1024

Customer's Part No: 452715 www.newageenclosures.com
APPROVAL BY DATE
crEcK STAND - INDUSTRIAL UTIL
ENG
— — SLX-452715X-XXX
DRAWN BY SIZE | DRAWING NAME SHEET REV.DOC
M BOYER Sep-17-10 A|452715_R1_@ 6oF11| 1.0




3.019

2.729

& .150

4.539

R.259

SCALE 0.750

om TN
| AL

Sty

SOOI
——

SECTION P-P 3.0°

R.200

452715 BASE

FOR USE IN CONFIG: -SS -BS

1.775

.095

SECTION Y-Y

.020 INSIDE RIBS

DETAIL

F

2.000 108

SCALE

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES
XXX =.015 X.XXXX =.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES 4330 Santa Fe Road ~ San Luis Obispo, CA. 93401

ph. (805) 595-1310 fax (805) 595-1024

Customer's Part No: 452715 www.newageenclosures.com
APPROVAL BY DATE
crEcK STAND - INDUSTRIAL UTIL
ENG
— — SLX-452715X-XXX
DRAWN BY SIZE | DRAWING NAME SHEET REV.DOC
M BOYER Sep-17-10 A|452715_R1_@ 7oFr11| 1.0




1.772 -5°
DRAFT/SIDE
Y1—|
I
e \
I
I
X i X
Ll _i__11
: 3.562 -5°
| DRAFT/SIDE
I
I
I
|
L@
SCALE 0.750 | \ R.139
@ .330 +5° i & 17042
DRAFT/SIDE «— 170 +2°
2 PLACES Y DRAFT/SIDE
2 PLACES

7

SECTION X-X

SEE DETAIL |

FOR USE IN CONFIG:

.006

452715 HATCH

= [— 372

-BS -BW

r 210

N

MLIIIIIIIIDIHIHIIHIHIHH MDDOOOMOMM™NWNW

Ypreers

)|

R.015

1.665

350 2.785
o= i 3
| I (& 170) | (& .330)
N ‘ R.190
SECTION Y-Y

r.120
% .090
.282
DETAIL |
SCALE 3.000

3.155

\ R.207

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES
XXX =.015 X.XXXX =.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES

4330 Santa Fe Road
ph. (805) 595-1310

San Luis Obispo, CA. 93401
fax (805) 595-1024

Customer's Part No: 452715 www.newageenclosures.com
APPROVAL BY DATE
crEcK STAND - INDUSTRIAL UTIL
ENG
— — SLX-452715X-XXX
DRAWN BY SIZE | DRAWING NAME SHEET REV.DOC
M BOYER Sep-17-10 A|452715_R1_@ goF11| 1.0




R.159 4x
R.125 8x

452715 MAIN O-RING
FOR USE IN ALL CONFIGURATIONS

I — V2L
N

x x
N N
5 e 58
o o o N
— Q “ -
2.170
‘,
» K — 1.400

— <X
1

J —— .000¢

1.400

N

\y

452715 BATTERY O-RING
FOR USE IN CONFIG:

808
.000¢
808

L\,
NG

2.170

SCALE 0.750

///r

R.125 4x

SECTION X-X
SCALE 5.000

SCALE 0.750

Q\ \JH 1.368 \

-BS -BW

R.155 4x

1.368

% .088

SECTION X-X
SCALE 5.000

TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES
XXX =.015 X.XXXX =.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES

Customer's Part No: 452715

4330 Santa Fe Road San Luis Obispo, CA. 93401

ph. (805) 595-1310 fax (805) 595-1024
www.newageenclosures.com

T STAND - INDUSTRIAL UTIL
e S SLX-452715X-XXX
1 BovER sep-17-10 " alas2r1s R1 o Yeorn| 1.0




452715 PCB - Customer Supplied

PCB SIZES ARE RECOMMENDATIONS ONLY.
SIZES AND VERIFICATION OF IT'S FIT ARE THE
SOLE RESPONSIBILITY OF THE OEM.

FINAL

— 2.050

R.250 4x

‘ (4.100)
x x x x
N Q Q Q
o o 81 o o
S S ~ S] S
< S S ® S <
- - < S - -

2.050

1.250 2x

1.150

¢ .250 KEEP OUT —
ZONE 4 PLACES

.830 2x

.000¢

.830 2x

1.150

¢ .125 4 PLACES

SCALE 1.000

CONNECTOR OPENING REFERENCE (% .245

1.250 2x

(2.300)

TOLERANCES: UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN U.S. INCHES.
XXX=.015 X.XXXX=.001
XXXX=.010 X.X°=1°

NEW AGE ENCLOSURES

Customer's Part No: 452715

4330 Santa Fe Road San Luis Obispo, CA. 93401
ph. (805) 595-1310 fax (805) 595-1024

www.newageenclosures.com

T STAND - INDUSTRIAL UTIL
e S SLX-452715X-XXX
1 BovER sep-17-10 " alas2r1s R1 o “oor1| 1.0




452715 2nd OPERATION DETAILS

NEW AGE ENCLOSURES DELIVERS YOUR ENCLOSURE MARKET-READY WITH IN-HOUSE
CNC MACHINING, PAD PRINTING, ASSEMBLY, AND FULFILLEMENT.
ALL SURFACES AND AREAS ARE AVAILABLE FOR CNC ALTERATION BY NEW AGE ENCLOSURES
CALL (805) 595-1310 FOR PRICING AND SCHEDULE.
THE INSIDE RADIUS OF ANY MACHINED FEATURES SHOULD BE NO SMALLER THAN .@31"

SCALE 0.750
SLX-452715-XXX COVER - ASA, BLACK
STEP NO| DESCRIPTION | INK COLOR CLICHE DESCRIPTION CLICHE No.
1 PAD PRINT
TOLERANCES: UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN U.S. INCHES.
XXX=.015 X.XXXX=.001
XXXX=.010 X.X°=1°
SLX-452715-XXX__COVER - ASA, BLACK e reomste a6 s e
STEP NO DESCRIPTION CUTTER FIXTURE ORIENTATION Tl e e — i ool
5 = oeo" N . — STAND - INDUSTRIAL UTIL
3 o AS_NOTED SLX-452715X-XXX
4 DRAWN BY SIZE DRAWING NAME SHEET REV.DOC
M BOYER Sep-17-10 Al 452715_R1_0 110r11| 1.0




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

New Age Enclosures:
S-452715-OR



http://www.mouser.com/newageenclosures
http://www.mouser.com/access/?pn=S-452715-OR

‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinckon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

